Dividing by 1 to 15 (A)

Name:

Date:

196 =~ 14 =
169 =13 =
120 =10 =
126 -9 =
144 =12 =
135 +15 =
140 - 14 =
210 =15 =
168 + 14 =
182 +14 =
132 +12 =
225 +15=
108 - 12 =
117 +-9 =
150 =10 =
180 =12 =

81 +9 =
180 - 15 =
165 =11 =
121 - 11 =
110 +11 =
195 +13 =
132 +11 =
140 - 10 =
165 +15 =

Calculate each quotient.

168 - 12 = 7=7=
130 +-13 = 70 =5 =
210 +-14 = 25+5=
154 - 11 = 120 =8 =
182 - 13 = 54 -6 =
117 - 13 = 15+15=
150 =15 = 195+ 15 =
287 = 56 - 14 =
40 =10 = 42 - 14 =
39+-3= 1+1=
20+ 5= 143 +11 =
6+-1= 15+1=
72 +6 = 3015 =
27 -3 = 4 -4 =
50+5= 44 = 4 =
36 -9 = 45 +3 =
70 - 14 = 36 12 =
12+2 = 30+-3 =
36 -6 = 24 +12 =
10 +-10 = 98 =7 =
99 - 11 = 24 -2 =
8 +4 = 33+3=
130 = 10 = 35+7=
45 -5 = 42 =7 =
10+-5= 4+1=

Score:

Math-Drills.com




Dividing by 1 to 15 (A) Answers

Name:

196 =~ 14 =
169 =13 =
120 =10 =
126 -9 =
144 =12 =
135 +15 =
140 - 14 =
210 =15 =
168 + 14 =
182 +14 =
132 +12 =
225 +15=
108 - 12 =
117 +-9 =
150 =10 =
180 =12 =

81 +9 =
180 - 15 =
165 =11 =
121 - 11 =
110 +11 =
195 +13 =
132 +11 =
140 - 10 =
165 +15 =
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Calculate each quotient.

168 - 12 =
130 - 13 =
210 +-14 =
154 - 11 =
182 - 13 =
117 - 13 =
150 =15 =
28 -7 =
40 =10 =
393 =
20+5=
6=-1=
72 +6 =
27 =3 =
50+5=
36 -9 =
70 - 14 =
122 =
36 -6 =
10 =10 =
99 =11 =
8§ +4 =
130 =10 =
45 +5 =
10+-5=

Date:
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7+7=
70 = 5 =
25+ 5=
120 + 8 =
54+ 6=
15+ 15 =
195 + 15 =
56 =~ 14 =
42 + 14 =
1+1=
143 =11 =
15+1=
30+ 15 =
4+4=
44 + 4 =
45 +3 =
36+ 12 =
30+ 3 =
24 +12 =
98 =7 =
24+ 2 =
33+3=
35+ 7 =
42 +7 =
4+1=
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Score:
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